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( Honours Generic/ Regular Course )
Paper : PHI-HG /RC-4016
( Logic )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed - 1x10=10

frrafetaecama ot et i -

(a) Truth or falsity is a property of
term/proposition/argument.
( Choose the correct answer )

TSI A TETEI (207 A /64 /3fEq 4 |
( 9% Teach! arfe Sfaaar )

(b) An argument has one premise/two
premises/no fixed number of premises.

( Choose the correct answer )
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(c)

(d)

(e)

(1)

24A/753

(2)

@bl fEa bl WA A A /A0 WM ane
AR /1A A4 (10 R e et o

(o= Teach! arfy Tfaer )

Validity of an argument is concerned with
the form of an argument/content of an
argument/both form and content of the
argument.
( Choose the correct answer )
Ifea Tarer 3 wwaa wvs/Yfea femmema
Are/fed WP wWE RwRm TowE @
S |
( 9= T5ach) aife Tferear )

State one point of difference between
deductive and inductive inference.

fom wF wena wEe ww @B ensi
TrEe 3

Give an example of particular negative
proposition.

b1 o el e Srras fimy |

The figure of a syllogism is determined by
the position of the term

( Fill in the blank )

A7 WaHTed soqas oy Aeww fordy
A |

(=13 572 7tz )

{ Continued )

(3)

(g) BAROCO is a valid syllogism immediate
inference/distributed term

( Choose the correct answer )

BAROCO &5 22r =17 /SiMra o=l /3%
o |

( =% Taary 4% IfFea )

(h) State any one general rule of a categorical
syllogism.

a1 feragers wma T @ FaEE WEw
TE4 A |

(i)  What do the ideograms stand for?
@S 5 & fre @

(j) Under what condition, an equivalent
function becomes true?

& vé® G5 AL T T 372

2. Answer brefly : 2x5=10
e e
(a) Define argument with example.
Twrapiz e R |
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(4) (5)
(b) Reduce the following  sentences mnto (b) Write a short note on square of opposition
proper logical propositions and mark them of proposition.
s A E 1O Fbeia facara asfema smacd bl vy G

wHq AT ATIPTIS AGALA AMEL P4 WF

A E. 1 O fizica B o4 : (c) Distinguish between figure and mood of
Ay, 1, e :

syllogism.
(1) Al students are not  equally A e A A ek kw4
ntelligent. ‘
sffeee fama smice 3w w23 | (d) What is simple proposition according to
(i) Virtuous alone are happy. modern  classification  of prop()ql’m)n"
Define each of the different forms of simple
G il R W proposition with example. 1+4-5

v wigfele @fasea WP HAA T B

(c) State any two rules of conversion.
@ca? TaEAcra s fafsn g@tea A4A

saadad | @I o1 e TrEe 4
AP ATSFCA AT g
(d) Write two utilities of the uses of symbols.
5 51 Setzarfirel R (e) Symbolize the following propositions : 1x5=5
@A 7y IHPTHE ASIFTIS TS AEH

(e) Define logical constants with .
gical constants with examples (i) It is not that Hari is honest.

Tzaz T@ R e fan 3D G T @ 3@ AR

3. Answer the following questions (any four) : 5x4=20 (ii) Either Rakesh is intelligent or he is

e gaERa e (R @ wfdn) honest.
(a) Explain the relation between the validity T A IS N (2SR |

or invalidity of an argument and truth or
falsehood of its premises and conclusion.
TEa 7207 A WAKTR AT R S
Frarea Frere) 71 wrere Aeerd A 4 |
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(iii) 1If you read attentively, then you will
succeed in the examination.
ot PR TAECA O (SR e
g 30 |




(6) (7)

. weather is 0! good but Rita (b) What is symbolic logic? Discuss the
o for a walk characteristics of symbolic logic. 416-10
qwa oA A2u fo Aef Fleata AT whfame e cagao A3t

Sdfqmrerq LB A w4 |

) It is false that the field is muddy and
(v) It is false o

wet.
O — 1L Discuss the relation between symbolic logic
and classical logic. 10
(f)  What is categorical proposition? What .arc ASNGE A Wa s sdamna
the different types of categorical G4 3o e ) |

proposition? Explain. 1+4=5

LTS b 3G @A ? f@e A fafen logic. Explain different types of compound
Tz & &, amam 4 | propositions with example. 2+8-10
wfas  wfawe wepifa avea wem fen

(c) Define proposition according to modern

4. Answer the following questions : 10x4=40 AN Sl
forafef¥e arared e fam - |
(a) Define syllogism with example. Explain its Or/2a
characterisics 2ol What is truth-function? What are the basic
TR AR R ! truth functions? Explain each of them.
e 2+2+6-10
Or/ % e Fo I @A? A SO

What is immediate inference? Explain 7 aiferbl Terea aman 4 |

obversion with rules as a kind of immcdlate4 0 (d) Construct truth table for any five of the
inference. 2+4+4= following  propositional ~ forms  and
SN T FE QA ? TG A AP determine  whether it is tautology,
fapreet fomrre afeadsy amam +41 | contradictory or contingent : 2x5-10
24A/753 ( Continued) || 24A/753 ( Turn Over |




(8)

wAs il abrae SnaraTsd 4 il caen
Abra NG efHd e dA AWE O
goorey, e o wfafdd e, e
P41
(i) p>(pvq)
(i) (p-q)Dp
(i) (p-q)-(pVvq)
(iv) (pvq)-(~p-~q)
(v) ~lp>(pvqll
(vi) p-(~pvq)
Or/ #1231

What is indirect or shorter-truth table
method? Discuss the method of proving
validity or invalidity of argument by
shorter-truth table method. 10

AETH 1 Y -l owfe FE QXA ? 5Y
Fej-SlfeAF] mfeq F2US e (a4l A1 WLyl
21 RSB A 4 |

* ok
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